0-7-p71-73.tex 18-1
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1. RO FAEAZ SR IW,
(1) 2z =8 2) x+9=4

3) x+4=12 (4)10+2=7



0-7-p71-73.tex 18-2

(7) 2z = —16

(11) 4z = —2z + 18

(10) z —3 =11

(12) z+6=9



0-7-p71-73.tex 18-3

(13) 7z = b5x — 6 (14) 4o — 7= —15

(15) 1 — 2z =11 (16) 92 = 4 — Tz



0-7-p71-73.tex 18-4

(17) =22 =3 —x (18) 9z — 5 = 2z + 23

(19) 52 +8 =22 —4 (20) 20 +7 =19 — 4x



0-7-p71-73.tex 18-5

(21)9—2 =246z (22) 8¢ — 10 =9z — 4

(23) 2+ 102 = 4z — 1 (24) =Tz +1=—z+7



0-7-p71-73.tex 18-6

(25) 1+ 2(z — 4) =3 (26) 4(3z +4) + 1 = —7

(27) 22 —3(2—1x) =4 (28) Tx +9=3(z —1)
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£ R H  AHD

1. XD FEAZ MEhIn

(1) 22 =38

8 o | Y
I

I
A~ noj oo

il =2 x4

Al =8

3) x+4=12

r+4=12
r+4—-4=12-4
r=12—-4

T =8

il =8+4
=12
Al =12

(2)z+9=4
r+9=4
r+9—-9=4-9
r=4-9
r=-—5
ol = —-5+9
=4
Hi30 = 4
(4)10+2=7
1004+2="7
100+2—-10=7-10
xr="7-—10
r=-3



0-7-p71-73.tex 18-8

(5)y—7=6

y—7==06
y—7+7=6+7
y=6+7
y=13

Fedld =13 -7

Al =6

DO W

(6) 4r = 6
dr =6
dr 6
4 4
3
9
i =4 %
=6
A =6
(8) —6z =3
—6x =3
—bx _ 3
—6 -6
_ 1
Ty
Eﬂ:—ﬁx(—
=3
i =3



0-7-p71-73.tex 18-9

(9)195:5 (10) x —3=11
ix:5 r—3=11
4x iz —axs ro kSl
4 r=1143
v =20 r =14
S = x 20 JE0 =143
5 =11
Hi =5 i =11
(11) 42 = —2x + 18 (12) 2 +6=9
dr = —2x 4+ 18 rT+6=
dr + 2x = —2x + 18+ 2 T+6—-6=9-06
dx + 2x = 18 r=9—-6
6x = 18 T =
br 18
6 6 i =346
=3 _
il =4 % 3 =9
=12
fid =—-2x3+18
= —6+ 18

=12



0-7-p71-73.tex 18-10

(13) 7z = b5x — 6 (14) 4o — 7= —15

Tr =5x — 6
v —b5xr =Hxr — 6 — dHx
Tx — d5r = —6

(15) 1 =2z =11 (16) 9z =4 — Tx

10



0-7-p71-73.tex 18-11

(17) =22 =3 —x (18) 9z — 5 = 2z + 23

(19) 52 +8 =22 —4 (20) 20 +7 =19 — 4x

11



0-7-p71-73.tex 18-12

(21)9—2 =246z (22) 8¢ — 10 =9z — 4

(23) 2+ 102 = 4z — 1 (24) =Tz +1=—z+7

12



0-7-p71-73.tex 18-13

(25) 1+ 2(z — 4) =3 (26) 4(3z +4) + 1 = —7

(27) 20 —3(2—x) =4 (28) Tx +9=3(z —1)

13



0-7-p71-73.tex 18-14

1+2(x—4)=3

1+2x—-8=3
(1-14+2x—8+8=3—-1+38)
20 =3—1+438

2z = 10

=295

il =142(5—-4)

=1+2x1

=1+2

=3

(30)
43z +4)+1= -7
120 +16 4+ 1= -7
(122 4+16—-16+1—-1=-7—16—1)

1220 = =7—-16 -1
120 = =24

Tr = —2

il =43 x (=2)+4)+1
— 4(—6 +4) + 1
=4x(=2)+1
——8+1
= -7

14
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20 —3(2—2) =14
20 —6+3x =4
(20 —6+6+3x=4+6)
204+ 3x=4+6
Sr = 10

r =2

Fll =2x2—3(2-2)
=4—-3x0
=4-0

(32)

Tt +9=3(xz—-1)
r+9=3x—3
(Tr+9—-9—-3x=3x—3x—3-9)
x—3r=-3-9
dey = —12
r=—3

FE0 =T % (—3) + 9
= -21+9
— 12

£ =3((-3)—1)
=3 x (—4)
= —12

15



